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Multiple Choice

1. (5 pts.) A 10-point quiz was given to a class of 20 students, and the relative frequency of each score
is given in the table below.

score 10 9 8 7 6
relative frequency 0.1 0.35 0.25 0.2 0.1

How many students scored 7 points on the quiz?

(a) 2 (b) 0.2 (c) 1 (d) 4 (e) 7

2. (5 pts.) An exam is given to a class of 9 students, and the average score is 80 points (out of 100).
The next day, a tenth student joins the class and is given the exam. This student gets a score of 69.
What is the new average for the 10-student class? Round to the nearest full point.

(a) 79 (b) 83 (c) 92 (d) 80

(e) There is not enough information given.
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3. (5 pts.) A box contains 6 red balls and 6 blue balls. A ball is drawn from the box. If the ball is
blue, you stop. If the ball is red, you throw it away (not back into the box) and draw TWO balls.

If one (or both) of these balls is blue, you stop. If both of these balls are red, you throw these two
balls away and draw THREE balls.

This procedure is repeated (with the number of balls drawn increasing by one each time) until one
or more blue balls are drawn. Let X be the random variable given by the total number of balls drawn
before stopping. What are the possible values for X?

(a) {1, 2, 3, 4, 5, 6, 7} (b) {1, 3, 6, 10} (c) {1, 2, 3, . . . , 11, 12}

(d) {7} (e) {1, 2, 3, 4}

4. (5 pts.) Suppose a random variable has the following probability distribution:

xi pi
5 0.2
10 0.6
15 0.2

Calculate the standard deviation σ(X) for X (rounded to two decimal places).

(a) 3.74 (b) 0 (c) 1.10 (d) 7.28 (e) 3.16
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5. (5 pts.) LeBron James has a lifetime free throw average of 75%. Based only on this (not taking into
account adrenalin, pressure, injuries, etc.), suppose that he shoots 6 free throws in some game. What’s
the probability that he successfully makes AT LEAST 5 of those shots?

(a) C(6, 5)(.75)5(.25) (b) 1− C(6, 5)(.75)5(.25)− (.75)6

(c) C(6, 5)(.75)5(.25) + (.75)6 (d) 1− C(6, 5)(.75)5(.25)

(e) A(6.5)−A(4.5)

6. (5 pts.) In any normal distribution, what percentage of scores lie AT MOST two standard devia-
tions from the mean? (Be sure to consider both below the mean and above the mean.) Use the table
at the end of this exam.

(a) 95.46% (b) 47.73% (c) 68.26% (d) 34.13% (e) 25.00%
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7. (5 pts.) Everyone in the country of Freedonia lives on the shore of Lake Groucho and rows to work
every day in a rowboat. The amount of time it takes them to row to work is normally distributed, with
a mean of 75 minutes and a standard deviation of 10 minutes. What fraction of the population gets to
work in under an hour (60 minutes)? Use the table at the end of this exam.

(a) 43.32% (b) 6.68% (c) 56.68% (d) 1.50% (e) 93.32%

8. (5 pts.) Doug’s diet consists exclusively of ravioli and lasagna, which he keeps in his freezer until
he cooks a box. Since his freezer is completely empty, he has gone to the food store to buy the next
week’s supply of pasta. Each box of ravioli measures 20 cubic inches and costs $6; each box of lasagna
measures 30 cubic inches and costs $7. On doctor’s orders, each week he has to eat at least twice
as many boxes of ravioli as lasagna. His freezer measures 10,000 cubic inches, and his weekly budget
is $800. If x is the number of boxes of ravioli he buys for the coming week and y is the number of
boxes of lasagna he buys for the coming week, what system of linear inequalities is represented by this
information?

(a)

20x+ 6y ≤ 10,000
30x+ 7y ≤ 800
x− 2y ≥ 0

x ≥ 0
y ≥ 0

(b)

20x+ 30y ≤ 10,000
6x+ 7y ≤ 800
2x− y ≥ 0

x ≥ 0
y ≥ 0

(c)

20x+ 6y ≤ 10,000
30x+ 7y ≤ 800

2x− y ≥ 0
x ≥ 0
y ≥ 0

(d)

20x+ 30y ≤ 800
6x+ 7y ≤ 10,000
2x− y ≥ 0

x ≥ 0
y ≥ 0

(e)

20x+ 30y ≤ 10,000
6x+ 7y ≤ 800
x− 2y ≥ 0

x ≥ 0
y ≥ 0
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Partial Credit

You must show all of your work on the partial credit problems to receive credit!
Make sure that your answer is in the answer box. You’re more likely to get partial credit for a
wrong answer if you explain your reasoning.

9. (15 pts.) Suppose a box contains 6 balls: two labelled 1, two labelled 2, and two labelled 3. Two
balls are selected at random from the box. Let X be the random variable given by the larger value of
the two balls (if both balls have the value, then X is equal to this common value).

(a) What are the possible values for X?

Answer:

(b) Find the probability distribution for X. (Numerical values, please.)

Answer:

X P (X)

(c) This part is completely unrelated to parts (a) and (b)! Calculate the expected value of the
random variable X with the following probability distribution:

X P (X)
0 0.1
2 0.2
4 0.3
6 0.4

Answer:

5



Math 10120 Fall 2020, Exam 3 Initials:

10. (15 pts.) Ten students are sampled on campus, and asked how many classes they are enrolled in
this semester. The results are:

3, 3, 3, 4, 4, 4, 4, 5, 5, 5.

(a) Calculate the average number of classes taken by these students.

Answer:

(b) Calculate the sample variance and standard deviation for this data set.

Answer:

s2 =

s =
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11. (15 pts.) Mercury Airlines reports that when someone buys a ticket, there is only an 80% probability
that the person will show up for the flight. For the June 22 flight to Manchester, they sold 200 tickets.

(a) Find the probability that exactly 170 of the ticket purchasers show up for the flight. For this
problem you don’t have to give a numerical answer – it’s ok to leave it in terms of binomial
coefficients and powers.

Answer:

For parts (b) and (c) we would like a numerical answer.

(b) Find the mean and the standard deviation for this Bernoulli experiment.

Answer:

µ =

σ =

(c) Use the normal approximation to the binomial distribution to estimate the probability
that at least 170 of the ticket purchasers show up for the flight.

Answer:
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12. (15 pts.) Consider the system of linear inequalities

x+ 2y ≤ 10
2x+ y ≤ 8

x ≥ 0
y ≥ 0

(a) Graph the feasible region using the axes provided. Be sure to label the lines and the
corners of the feasible region, and shade the feasible region.

2

4

6

8

10

12

2 4 6 8 10 12

(b) Find the maximum value of the objective function 3x− 4y on the feasible set described in (a).
Be sure to show your work.
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